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1. The Chairman of ASEAN (Association of South East Asian Nation) is
(A)  Rodrigo Duterte (B) Yukia Ameno

\M "Lee Hsien Loon (D) Thongloun

QgendlpsE < priseiar snssde (ASEAN) samaea

(A GrrlAGsr Ly Qi (B) . wdwr Genm
©) SEargm - D) shsCanan
2 Since 1993 Collegium System in India is a search committee for

(A)  appointing Vice Chancellors in University

\M appointing judges in Supreme Court and High Court
(C)  appointing health administrators '
D) appointihg Directors in Welfare Board

GBI araraid CaLd @9 1993 (psd @pumaid

(A)  uvesmssYs gamaGabgTamen BILILGELD

®)  swidoad wpmb 2 sBBindm SHudsmer AuBsED
©)  sersm s QusGpTs®aT HLBEED

D) po airflu @uiesismar Sl

3. Jan Dhan Yojana is an insurance scheme for
(A)  Children education (B) Widow welfare
M Farmers welfare ' (D) Health development

et sen Guimsen erengid STUTE HLid
(A) @l(.pf_r)mgaadﬂah Sealdl (B) dliganeu meven
(C) eleusmigafien meaven (D)  ssnsny @G&r@mpbgnb
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4. Pagladia Dam Project is located in which state?
(A)  Arunachal Pradesh - (B) Tamil Nadu

(©)

Uttar Pradesh M Assam

LISeMig W ienenr Sl LD erhg wrblagsla ishmg,j?

A simewrse 95Csen B) s BrEH
(C) =54y QGgaid (D)  <yemb
5. National Science Day is celebrated on
\M February 28 ‘ (B) March 28
. (C) February 18 (D) March 18
Caélu sifleflued ferb ——————— e @5WG&TLHLUU®@D@1.
(A QGogeufi 28 (B) omis 28
(©)  Qugeuf 18 ' (D) wrrE 18
6..  Which is the first federal foray into water pollution?

\K Federal Water Pollution Control Act of 1948

~(B) Federal Act of India 1960
(C)  Federal Water Acy 1945
(D)  Federal Act of 1950
lGI'éﬁTl_lgLI B wraum_igan (pse sal Lenium@n.
(A) 19486 wSHW BT re s HUUTL () b
(B) 1960-6> @imdlwimellen ngHw & L_1b
(C)  1945-an @bHwrefen B a1 Lib
(D) 1950-6 wHHw s L1b
HORGS/2019 P 4
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B The expansion of GDP is

W Gross Domestic Product - (B) Gross Development Product
(C)  Gross Domestic Percentile (D) Gross Development and Planning
GDPer ellfleurssin
(A)  Gross Domestic Product (B) Gross Development Product
(C)  Gross Domestic Percentile (D) Gross Development and Planning

8. WIMAX is related to which one of the following
(A)  Biotechnology (B) Space technology

(C)  Missile technology M Communication technology

WIMAX eremuig @@fﬁu@mﬁmm@@@b orhs QsmPled HINUSMSF FTTHSS?

(A)  Biotechnology (B) Space technology
(Cy  Missile technology (D) Communication technology
9.  Who discovered Gamma rays from the following?
o Paul Villand (B) Marie Curie
(C) J.J. Thompson (D) Adam Osborne

Gamma sdlrgener seir(Hilig SHeum wmm?
(A)  ume efleonh -~ (B)  Cuwfl sy

(C) J.d. g,m.bma'm (D) b evGuniren

1.
o
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10. When sound waves travel from one medium to another medium, the quantity that remain
unchanged is

(A) Speed %requen(}y

(C) Intensity (D) ngelength

@60l DEOEET (T 2aTL_H&Hle0l (HBHII wH@orm e _s5HnE HewabGurg), &Qéa&@ﬁMLeungJéﬁ GTEHE

S{eTey LTI (HEELD?
(A)  Gousid ' "(B) wfiQeusr
(C) Qsdley (D)  ewevHemd

11. In 2014, Nobel prize for physics was awarded for the invention of
(A)  White light emitting diodes M Blue light emitting diodes
(C) Red light emitting diodes (D) Green light emitting diodes

2014-0  gyarnged, @QunQuaisster Cprue uflers Spassan esan  sam(BHllgUGDers

GUpRISILILL g)7? _
A)  Qaudiranio gofl .18 e GuTGadr B) o gafl .8 oL Cun@aer
(C) ey gefl 218 e Cuir(iaser (D)  udms gafl 2 101D enL_Guir(hser
12. A spring is hung vertically with a mass ‘m’ attached to its lower end, the spring experiences

an elongation ‘d’. Then the force constant of the spring is proportional to

(A) dim ‘ B) md

M mid D) mid

@M sLUssmET Cemgssrs QsmiusellLlu (Hderg. oigar &  aandd Han m

sLLUul (Heatersmed, sbUEsmer d eremm Hear B flevw e dlmgl. SLCung), sbldssmaflar alans

wriledlullen Crirssae
(A) d/im B) md
©)  mid (D) mid
HORGS/2019 _ 6 =



13.

14.

15.

1

When Sardar Bhagat Singh, Shiva Ram Raja Guru and Sukhdev were hanged?

(A) 20t October 1930 M 23 March 1931

(C) 26t January 1930 (D) 256 December 1931

FTTT L&ESS R, Hleurmbd gre @, &&Gs6u epel(Hd eTGUmIpg Hrsdledl L L erir?
(A) 20 =sCLrLT 1930  (B) 23 wmis 1931

(C) 26 gaweurfl 1930 , D) 25 gsbur 1931

In 1931, the Karachi session of the Indian National Congress was presided over by

(A)  Abul Kalam Azad : G Vallabhai Patel

(C)  Jawaharlal Nehru : (D) Sarojini Naidu

1931- b e srrEfuder e Qupp GBS Cadlw sriidyen LIBTL 1gH S cudlgseur
(A) @6 seMb ,ETH (B) eueveumds LCCGLé

(C) meuamrere Gr(m A (D)  sCpralefl mmuy(p

When was the Indian Independence Act passed by the British parliament?
:

(A)  June 28, 1947 M July 18, 1947

(C)  August 15, 1947 (D) July 4, 1947

QA Ler umpmenamsdeo @S ssbrs b erliturpg @ubpliul L g?
(A)  m9en 28,1947 (B). m®eme 18,1947

(C)  <ysevl 15,1947 D) oOame 4,1947

7 HORGS/2019
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16.  Article 51(A) of the Indian Constitution deals
(A) Fundamental Rights

M Fundamental Duties

(C) Directive principles of State Policy
(D) Amendment of the Constitution

@pAHw sirflweeaoliy ald 51(A)-curang erengls uHd GHIAHH a2
(A)  ©glivenL 2 Manwser

(B) <eiglumL sLmwbaer

(C) @& aufan G Apdupans Carum®

D) erflueewly sl Amssw

17.  Which article of the Indian Constitution granted powers to the President of India to
nominate two members from Anglo-Indian community to Lok Sabha?

(A)  Article 335 (B) Article 336
y Article 331 (D) Article 334

Srfluemvlder aps o1f QU Grures sewamEeE Corssureln < mdCor-@)nhswer
FpSTWSMS FTTHS @ren(h e mubarisamer fluiflés oifsmb oeflsHpg ?

A) &4 335 . (B) e84 336
(C) &4 331 (D) &4 334
18. The concept of Judicial review was borrowed from
v Usa ' (B) UK
(C)  France (D) Australia

B8 yerymiey penm upliul L pr@E

(4)  2Cwfssr B) @rdarks
(C) . Qymemen D)  aendCGrallwm
HORGS/2019 8 o



19.  Which one of the following is a state of India?
Daman and Diu (B) Dadra and Nagar Haveli

w Goa (D) Chandigarh

(A)

Sipsseaeupile erg @bSlwimeller wmblewrEn?

(A)
()

LMLDE Hmid enL B) srsrTwHHL BreT CanGousd

Gameur . (D) FEBTIg T

20.  Match the following study teams with suitable options :

(a)
(b)
()
(d

(A)

w4

©)
D)

List I (Study team)

Study team on Panchayat raj Administration 1.

Study team on Nyaya Panchayats
Study team on Panchayat raj Finances -

Study team on the position of Gram Sabha in

Panchayat raj movement 4.

(a) (b) (c) (d)
1

4

O
N = W W
(VoI TR (S RS

EpSeaTL Ie|E G(PEsaeT H@EhS ellenL L e QUITHESIS :

(a)
(b)

(o

@

(A)
B)
©)
D)

1

ulgud-I (epiieys @)

LEhemw&Hg Trey BlTeursd uHPlu ,u16s @&
Bluimu u@&nugg}&éﬁugbgﬂm 216 & &
LgheTwSgl 71 Bl ubdlu bels G
UEHEETWSS 1Ty @uisssdld o semuuden
Blenavullenara: ser_dlujbd plie]s G(Pp

(a) (b) (c) (d)

N = W W
L W N

— W R
N e

i, O o

List IT (Chairman)
G.R. Raj Gopal

- R.R. Diwakar

K. Santhanam

V. Iswaran

vligwied-IT (geneveur)
G.R. gy Gamumed
R.R. Hansi

K. shgrenbd

V. FFGiUGﬁUGBT

HORGS/2019
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21, 1. Obelia polyp is sessile and fixed.
II. . Obelia mature medusa in free-swimming.
Statements are True/False
(A) (1) alone true : (B) {I) alone true

W (I) and (II) are true (D) (D and (II) are false

L gpuiledlwmellen LTeSlUSET BET (PIpULITHSTHEED 6oL 1g.8& Qlamer(Mib srawriu(HiLb.
I gudlurelear wpdlips Auher-galuns BHhas g wee.
Cuhaadus sapm sflwn? seupr?
A 0 ol@poef ‘ (B) (I) wl @ &
©) () womw (1) sRlwTaTena D) D) wpmw (I) g)aug)rreafemeu

22. Sensitivity, congenital, traumatic, metabolic and associated with drugs, smoke and heavy
alcohol consumption are characters of
(A)  Obesity | G Gataracs
(C) Glaﬁcoma | (D) Diabetics
o amitEALPOIBLILE), STeanOmai L, | yaynngs, aaifleos wIHHD WHHD LEBE. Uos wHmD
Ggu&s5CsTH QemryenLw Crm
(A)  @eLns @pliug (B) srignsl
€)  ©eEpsCsmor D)  Brfey

- 23, In humén, which types of cells are affected by Malarial parasite?

W Liver cell and RBC (B) RBC and WBC
(C) RBC and Ty Cells (D) RBC and Epithelial cells
waerllgefley, Geflwm epl (Hewrenflullarme GT;_F;;_P, euens Qeager LTdlssuuOEng)?
(A) sy e wHmib Qrés SHeuliy ianssar
B)  Qrss Heuliy o@missar wHmb B)7és Oeudren e gm) &EaeT
(C) @rss feuly siemssar womd Ty Gedsdr
D)  @uss Aauiy sigmsser LHMIL QLT Qamaar

HORGS/2019 _ 10 =
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Which of following is used in making printer ink, shoe polish and paint?

(&) - Lomp Blagk . G Bone black
(C)  Carbon black (D) Copper black

Gemeu(meuameummer FalCurdl, Gemiy urdey wHmL GQuuiaT@seie LwaUGHSSILHD

Qummer wimg)?
(A eflemdg smLy (B)  ereyby smLLY
(C)  smiuen s@HLY ' ' D) smiur sEmUY

LCM of x° —a® and (x—a)? is
@) (@ -a®)(x+a) | B). (2*-a)(x-a)?

M(_x—a)g(x2+ax+az) ' D) (x+a)?(x?+ax+a?)

4 il opmb (x ~a)® - dweunder 5.8.1o. TGS |
@ @ -a’)(x+a) ‘ B (*-a®)(x-a)

©) (x-a) (x?+ax+d?) D) (x+a)*(x*+ax+a?)

A man buys 10 articles for Rs. 8 and sells them at the rate of Rs. 1.25 per article. His gain is
(A 20% (B) 50%

© 191% G 56-%
2 | , 4

e welgear 10 Ldammaer . 8-&@E eurmd eupenn ep. 1.25 eigd 10 Lflenmmisener eQdmmir.

S{6U(MHEnL 1L QITLILD

(A  20% B) 50%
1 ' 1
—% : D) 56=%
© 192 (D) y
11 : : HORGS/2019
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27, How many triangles are there in the figure below?
A b B) 6
C) 8 10
Spasnamd GUGD’)ULIVL_‘E_-BQGD e gemen (p&GHTEMTRISET 2 6Temen ?
A 5 B) 6
() 8 E (D) 10
28 Ifa+b+c=13 a®+b%+c2 =69, then find ab+bec+ca
(A) -50 (V 50
(C) 69 ' (D) 75
a+b+c=13 wpmb a® +b* +c* =69 erafléd ab +be +ca sraw
(A) 50 B) 50
(C) 69 D)y 175
29.  Divide Rs. 672 in the ratio 5 : 3
(A)  Rs. 400 and Rs. 272 v/ Rs. 420 and Rs. 252
(C) Rs. 300 and Rs. 372 (D) Rs. 472 and Rs. 300
e, 672-eow1 5: 3 ereurL] Gflugme enL g
(A) @5 400 wHmIB ep. 272 B) . 420 wpmid @m. 252
(C) @ 300 Oy e 372 (D) em. 472 wHHID @5 300
HORGS/2019 ' _ 12
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30.

31.

32.

il

What is the difference between the compound interests on Rs. 5,000 for 11 years at 4% per
annum compounded yearly and half-yearly?

M Rs. 2.04 (B) Rs.3.06

Rs. 4.80 | (D) Rs. 8.30

4% syem® o ig ossHD, 13 yan@sEsss m. 5,000-5E, SL6TiahE o wann samESLLIL@ID
ol () Ul q &L, e HE G wern sETEALLLHD sl el gsEn der elsHursn
GTEHTEN ?

A e 204 (B) em. 3.06

(C) em. 4.80 ' : (D) em. 8.30

The radius of a circular cylinder is the same as that of a sphere. There volumes are equal.
The height of the cylinder is

J % times its radius (B) % times its radius

(C) . equal to its radius . (D) equal to its diameter

@ CpreulL 2 (penerullen <ub, 2y Carerdslen %rjgﬁg@ g, Cogib emeusefler sear
SlaTeysar Fob erafld Crireul L o (Heneruflem 2wy wimg)?-

. : . 2 . . .
A | % LDL_TBI(F AFE 4D (B) 3 \DLEE g D

C) s w Yr55HE Fwb (D)  =igen L GHD @G &b

A man invested % of hié capital at 7%; i at 8% and the remainder at 10% . If his annual

income is Rs. 561 find the capital.
(A) Rs. 5,500 (B) Rs.6,500
(C) Rs. 5,600 | " Rs.6,600

e 7% eullg eNdg5Hle jeumenLw (pseSiged ppeniled @p LGHmwb, 8% el iy eldss8e
SjeumeL W sy pradle @m uGdawwb, Bspdaaams 10% iy «9ssHain s
QEIgIETaTTIT. HeUHEPL I eU(HL aU(HLTEND . 561 erafled, sieumaLw sl oL srems.

(A)  Rs. 5,500 |  (B) Rs. 6500

(C) Rs. 5,600 (D) Rs. 6,600

13 | " HORGS/2019
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33.  The length of the longest rod that can be placed in a room of dimensions 10 m x10 m x 5 m
18
(A) 1543 m M 15 m
(© 1042m D) 5/3m
. f
10 8 x 10 18 x 5 18 jemeyerer e SHanpudled, eveuliusmHaTen @ sbSludler edlauls Bemb wirg?
(A) 153 Briq (B) 15 B
(C) 1042 Scis D) 543 S
34.  If Y4096 =64, then the value of +/4096 ++/40.96 ++/0.004096 is
(A)  70.4 -QB/ 70.464
(C) 71.04 . ' (D) 714
V4096 =64, arafich V4096 ++/40.96 ++/0.004096 -@ein iy
(A) 704 (B) 70.464
(C)y 71.04 D) 71.4
35.  Area of the rectangular region 2 Dy < 5, -1<y<3is
(A) 9 units ; 12 units
(C) 15 units ' (D) 20 units
2<x<5 -1<y<3 <% SiewLuBdp Qealeus LGHurarame
A) 9 sw@sdr B) 12 se@ser
(C) 15 sugser D) 20 sEsar
36. 1100 boys and 700 girls are examined in a test. 42% of the boys and 30% of the girls pass.
Find the % of the fail. :
&) 58% v(/ 622%
(©) 64% D) 78%
e Garencu 1100 wrereusEp, 700 wremreils@pL, eT(pgldlenmen. ojeuisafler 42% LD ITEWT6U T8 (GTHLD
30% wremellaeEnn Coradl Qumdeaperi, erafien Garavell en_pGarilen ssaisn srer.
(A) 58% _ B) 622%
(C) 64% D) 78%
=

HORGS/2019 14



37.

38.

39.

1

Find the greatest number which on dividing 1657 and 2037 leaves remainders 6 and 5

respectively.
W 127 B) 135
(© 240 _ (D) 147

1657 womb 2037 HdHw @\ TG EGT, QR eramaTTed) auGUHL Qurps HaLsEn B weon

6 wHmib 5 eratle, auEsEL WslGuNw eream sramrs.
A) 127 ) (B) 135
(©) 240 \ (D) 147

Find the missing term :

CX,DW,EV, —  GT ;

&) AZ (B) Hs
(© EV G FU
APULL g w@m :

CX,DW,EV, —— GT

&) AZ | | (B) HS
(C) EV D)y FU

In which type of rocks the Neolithic people had their settlements?

(A) Marble | & Granite

(C). Hard rock ' | (D) Quartzite

Hlw spsre waflger abs cumswtear LTrapseiia srisd Gy Cuhpsms Hnefarmer?
(A)  wrrler ureom _ (B)  Agrevanl uimenp

©) asgerl urep ' D) Geurtlians

15 | HORGS/2019
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40. Who established the first English factory at Surat in 1608 A.D.?

(A) 'I‘horﬁaé Stevans y William Hawkins
(C) Sir Thomas Roe Job Charnok

1608-gtb e @78 psile (s ynidle Qambhsrameanus Hlmpeluweur wmi?

(A)  sTDEL GViecuETEY (B) efleallwib emrédenen
(C) & smoev Gy (D) gl gnipré
41. In whose regime of Governor General, Queen Victoria assumed the title ‘Kaiser-i-Hind?
(A) Lord Mayo ~ (B) Lord North Brook
W Lord Lytton : (D) - Lord Ripon

‘GT‘T_F)‘Q') seuiranit Gpanyallen & srasfed MsGLrilu Cuyrd “Qauist-g-aflbg” ererm ul_l_ggeog

@L1q.8 Camer_mi?
A) GCuGwrdyy ' (B)  Bris yemé Dy
(C) e Gy _ D) - Auwer Gy

42. Who mentioned Raja Ram Mohan Roy as the Father of Indian Renaissance?
(A) Keshab Chandra Sen

M Rabindranath Tagore

(C) Swami Vivekananda

(D) William Bentinck

@Hw wyweréflear shoms aar @rmmrmd Guorsayraw @b G erarai wri?
(A)  Gsagu gpSlr Qaen

B)  yelipdyprs prewi

(C)  seumd eGeusranbgmi

D)  efdedluid QL

HORGS/2019 16
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- 43.

44.

i

(A) 1970

The Wildlife Protection Act was passed in India i
\/ 1972

(C) 1960

QpHwredd cuanellamiiEsdr LTESMILE s L1b Qarem® eyt L Samd

(A) 1970
(C) 1960

Match the following :
States

(a) Odissha

(b) Assam

(c) Meghal_aya

(d) Madhya Pradesh

Qummsss :

wrblebiser

7 | (a) equear

(b) iGvevmD
(c) Gusreowm

(d) wsHw AyCseid

(a) (b) (c)

A) 1 4 3
®) 3 4 2
©) 1 2 3

O 2 3 1

(D) 1962

(B) 1972

(D) 1962

Biosphere Reserves

1. Panna

2. Nokrek
5 - Simlipal
4. Manas
(d)

2

1

4

4

o AFGETET UETEIGET
1. uieuesTm
2 Crmaila
3. Sbedluimed
4. LOTETIT &)
(d)

2

1

4.

4

17
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45, Respiratory Quotient (RQ) is

(A) _Volume of Q2 consumed

Volume of COz evolved

Volume of CO:2 evolved

Volume of O2 consumed

(©) Volume of Oz evolved

Volumepof ‘COz consumed

D) Volume of CO3z consumed

Volume of Oz evolved

seurs me| (RQ) eremLig

A)  ULELESELLED O2 seray

Qeuefliu@ CO2 yemay

B) Qeuefiliu@n COz ojarey

LwerU@SsILED O2 Ty

Qeuefli@Bb Oz arey

© e
vweru(Rssuu@L CO:z ojeray

vweru®gsinmn CO2 =jerey
D .
®) Geuafliu®b Oz ieray

46. Nutrition Atlas and Diet Atlas were published by

W I1cMR (B) UNICEF
(©)  WHO (D) FAO

. 2AILLEFSF) SjL_aaD HMID 2 e S aren Geainenn Qeuafudi g
(A) ICMR - (B) UNICEF
(C)  WHO ' (D) FAO

HORGS/2019 18 =
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47.

48.

i

Identify the important functions of regulated market committees in India and select the
correct answer using the codes :

(i)
(i1)
(i)
(iv)

(A)

Fixation of charges for weighting and brokerage
Enforcing the use of standardised weights

Ensuring that only “Agmark” products are marketed

Providing latest and reliable market instrumentation to the farmers

(i), (ii) and (iii) only

M (i), (i) and (iv) only

(©)
D)

(i), (iii) and (iv) only

(1), (111) and (iv) only

@idwureler @uhiGuwep dpumer s ksalear Widu vallsmer s Hlbg, @gﬁ]uﬁ@&mmu
vwer(HsH sflwrer eflenL e,

@

(i1)
(1i1)
@v)
A)
(B)
©)
D)

a9 (heugH@b, STGS@GD s Lenrd Hliewrd Calige

grenm GuHD erent_saner L HGW Liwemu (s cuadumsse

‘SigLonTE’ smenm Gupp Gur@mLseT W HGWL sHhmsLILBSsma 2 NFULBSSIS
LS HmD BhLsSLTa Shang eleurhisamer 6dleugmuis@hsE uLph G s

(i), (ii) wimib (i) wr G
(1), (1) wHmw (iv) LD
(ii), (iii) pmb (iv) LD
(1), (i) whmitd (1v) v Hib

The population of a country will increase when

(A)
(B)

Birth rates and death rates are high

Birth rates and death rates are low

W Birth rates are high and death rates are low

D)

Birth rates are low and death rates are high

@ Brlige wEsESTans SHafliiig

(A)
(B)
(€)
D)

Yptiy eSsapd, Qouy eigepd @iglswns Qouéen dunws
Hpuy eisept, @iy eiswt Gmpats Gnéh durys)
Gy eisb sfswrsad, @nUL eish Gmpeursea|b B HaED Curpsg
Wpliy egid Gemeunsa|d, @mui eigh Siflswnse|b GMmasn Gumwps
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- (B)

B)

(D)

(B)

D)

(B)

D)

- (B

D)

7tk January 2016

7th April 2015

snameuifl 7, 2016

L@ 7, 2015

Nitin Katkari

Manohar ParikarA

Hldlem &gl

wCarrsT urf&st

In which year India joined Hague code of_cbndua against Ballistic Missile Technology?

2017

2012

by e @QBAur urdldvgs geisman GsmPlonlusANE THITE BLASGILLL G@fpés:

49.  World Health Day
(A) Tt November 2015
(C) 7% October 2015
2 & HETHTT Febd
(A) meutbur 7, 2015
(®) @EGLTLA 7, 2015
50. Who is the Vice Chairman of NITI Aayog?
M Arvind Panagariya
(C)  Sushma Swaraj
B8 < Cuirgdlen gieanans seneveuit wimi?
(A omeilbg LensTwr
(C)V FEYLDT &HEUTTE
51.
(A) 2014
7 2016
Qeanbsgl, pL-sms NfsemLer?
(A) 2014
(C) 2016
HORGS/2019
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S BY

54.

1

53.

World’s largest crude oil tanker expected to arrive at Chennai is

W M.T. New Diamond (B) Teekay
(C)  Front Line (D) Nordic American Tanker

Qeenenans @ eur erdTumTésLLEL 2 sarelley WalGuRw s&er ererblami st
(A)  M.T. fly, evLoem (B) =Cs

(C)  Selyenrl enauedt (D)  mrigs HC@wlléser Lmmigi

Which is the headquarters of Central Zonal Council?
(A)  New Delhi ' (B) Kolkatta

M Allahabad - (D) Mumbai

&S a6 &esnéledlenm g,ema)@nmu.iestb aTg)?
A)  yg Hevedl ' (B) Qsrossst

(C) S@sTuns . D) @poevn

Prime Minister inaugurates India’s longest road bridge connecting between which two

states?

(A) Assam and West Bengal

(B) Mizoram and Megalaya
W Assam and Arunachal Pradesh

(D)  Mizoram andr Nagaland

@pHurellen Beromen gepyliumeD 6hs @ WwHlomsmer @éﬁ)@fﬁruug@asrraajﬁggmr’r S|GUTHETTED

FleuGHUILLL g)I?

(A)  evevTD LD,rj);rgJLb Con@ eurkisTenid
(B)  WOCesmyn LDQ')QJL'Q Gusmeowm

(C)  eveumb wHmb Simerrrse 9rGssd

D) WOCsrrd LHMID BrEOTHS
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55.

Which framework and financing pattern of the Twelfth plan?

\M Macro economic (lB) Economic wealth

©) Micro economic (D) Economic growth

veneyerLmeug) &L sflar s Lenwliy wHmid HEuNw e arg?
A) Cu&Crr-Qummenngmy (B)  Qumrmermgmy Qeaeud

(C) mewr QummeTnsTy (D) Qummwerngmy eueriad

56. The process of economic reforms undertaken by whom?
(A) Dr. K.R. Narayanan (B) Dr. Rajendra Prasad
| M P.V. Narasimha Rao | (D) Dr. Manmohan Singh
Qurmermgmy Erdlpesmsaiies Geawdpan wiryme CuplamareTiiul L g?
(A)  Dr. KR. pryrwenres (B) Dr. prCgipdly Gysrs
(©  P.V. prflbw yrey (D) Dr. wenGuomser S
*57. In the first quarter of 2018-19 financial year India’s GDP is

(A) 6.5% ' 6.9%

(C)  6.7% | \M 8.2%

2018-19 B8l gpetmig et (e sremaTe. @bSHwiredlen Gworss 2 el ( e pusd (GDP)
(A 6.5% ' - (B). 6.9%
© 6.7% (D) 8.2%

HORGS/2019 s 22
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58.

59.

60.

T

Which planet was discovered by NASA’s MAVEN to have twisted magnetic tail?

(A) Venus M Mars

(C) Saturn _ (D) Neptune

NASA’s MAVEN seor(h19q L1196 smer enanbs eurd UGS Qameam. Camer erg)? -
(A) © Venus (efemen) (B) Mars (omiev)

(C) » Saturn (Gsl_iLem) (D) Neptune (@b e

Which is regarded as one of the World’s hottest hot spots of biological dlvermty’?

(A) Rann of Kutch M Western Ghats
(C) Eastern Ghats (D) Sunderbans

2 @& eredle eThs Li@d hot spot erer 2 udlflwie um@aggsﬁrmm—uﬁlm SpssLLGEDg? -

(A) - Rann of Kutch (5CGer <2y 515)
(B) Western Ghats (Cuone mmm&,@gﬁLﬁ)
(C) Eastern Ghats (flps@ waag6gmLi)

(D)  Sunderbans (sBgreueid)

Simplify the given Boolean expression

Y =ABC +ABC + ABC + ABC

W C ® I
(C) B | D) B
 Aar@ésuu’ @érar LLEONLIGHT FLOGTUITL GDL. &(THHES.
Y=ABC +ABC + ABC + ABC
A C B) A
(© B (D) B
23 - HORGS/2019
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61.  Match the following :

(@) .

(b)
©
(d)

Newspapers
Vande Mataram
Maharastra
Hindustan

Bombay Chronicle

(@ (b (e)

7 2 T
® 2

4 3
© 4 3 1
® 1 2 3
e
LA senaae
(a) euBCs wrsmbd
(b)  wsmres g
© afbsevsren
@ . LibCn Erelisd
(a) (b) ©
@4 3 4 1
® 2 4 3
© 4 51
O 1 2 3
HORGS/2019

‘Editors

M.M. Malviya
Firoz Shah Mehta
Aurobindo Ghosh

B.G. Tilak

uSourdflurser

M.M. wrereduwir

QuCrmav agr Cgsm

2irefilbg) Gamay

- B.G. fasr
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62.

63.

64.

i

Who was the President of Hindu Mahasabhain 1938?

M V.D. Savarkar (B) Pt. Madan Mohan Malaviya
(C) Bala Gangadhar Tilak (D) _ Swami Vivekananda

1938-d @pg war semuian SeneeurTs G)HbSEUT WmT?
(A) V.D. seunigsmm : (B) wawnigl wgen Congen wrerefiwim

(C)  ure SRIGTS]T HeSIT : (D)  seumbl NCeusranbsT

How many members were nominated by the British in the Cabinet Mission in 19467
(A) Five members . (B) Six members

(C) Four members : M Three members

1946-0 gmiCawfsamed HubllslULL Si@wssrma gIHsGuwelda o puilanise ebpamar
Cuir? |

(A)  obg Cur Lo (B) <m Gun

© - préieGui D)  qpény Gui

Which Article of the Indian Constitution says that the ‘State shall provide free and
compulsory education to all children of the age of six to fourteen years in such a manner as -

the state may determine’?

@ 21 o @/21A
| D)

(G 22

‘B (pse LlenTens auwigl cuenguilenar GYRHassEHsESE 2ATs SiwralsE el wpapuie Glees

WOHMID S LTwd &6 upRIGTD 6rans samib @bdlw sipélumeawiiy e erg?

A 21 (B) 21y

€y 22 D) 224
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65.

Who is regarded as the “Father of All-India Services”?
(A)  Lord Macaulay - (B) Lord Cornwallis
(C) - B.R. Ambedkar y Sardar Vallabai Patel

<iélo QbW Leflsellen gheang eranm sy Lieuons a@gé&ﬁu@umr’r W
(A) Cu&srGe Gy (B) smyemeureliev Gy

(C) YG.oym SbCUGETT ' (D) &g eueveoumi uGLe

66. The 59 Amendment Act, 1988 provided that necessary restrictions could be imposed on-
liberty of individual and life (B) economic rights
(C)  cultural rights ‘ (D) religious rights
59aug wwrdlwueemwliy L §mssn 1988 wésafar b 2 Mawo Bg sen_semer eHssa? |
A)  seipuian eumpey OO sspHy = Aenwo (B)  Qummemngmy 2 Menwo 1Sy
(C) serseryofenw Sg (D) wsg 2 fenw By
67.  The number of Benches of Central Administrative Tribunal in India ié
(A 15 M 17
€. 19 - D 21
@pHureile o drer wgdw Hieuras SriurusHayenw siwiesaien cramailsms
A4 15 ®) 17 '
© 19 D) 21
68.  Fifth General Elections was held on
1971 : B) 1972
(C) 1973 ' (D) 1974
Bhsreug Aungis Caised poL Aupp am@
(A) 1971 - (B) 1972
(C)y 1973 ; (D) 1974
HORGS/2019 26
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69.

70.

71.

)

Which one of the following pair is not correctly matched?

(A) Art. 280 — Finance Commission

(B) Art. 315 = UPSC

(C) Art. 324 - Election Commission
\M Art. 328 - National Commission‘for SC

Spsar_cunhle ereneu sflwns Qurr([r;;bg,aﬁ]ehemﬁ?

(A) &4 280 - 1S oy enemTiLd

(B) &4 315 - w&Sw CsimeuramenTwid

(C) <94 324 - CaiTHe <y emamruD

(D) &4 328 - sMpSsILLCLmmasmar Caw ), eheamrwbd

Who was the first Chairperson of National Commission for women?
M Jayanti Patnaik (B) Mohini Giri
(Cy Poornima Advani (D) Girija Vyas

Casdlw waafliT pamenrugE e (PSH6d SEneeuUT WITT?
A)  Quuid Liprus (B) CGurdad Af
(C)  yiewflor siseumrefl (D) S eflwmev

'A population is a group of

(A) speciesina community

(B) communities in an ecosystem
\M individuals in a species

(D)  individuals in a family

W&EET QBTens eTaTLIG) G (pSHeTTaT

(A)  sapaTwsHeieTeT @) eumhiseT

(B)  @wilae warasadrer 2 ulfland gupsruid
(C) =ulfergder 2 uifsafien eramrentsans

D)  EbLsHE 2 W fseidn oramesms

27
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72.

73.

The number of coulomb required to liberate 127 g of iodide from potassium iodide solution is .

(A) 53 coulombs : B)

& 96500 coulombs (D)

7 coulombs

127 coulombs

127 &l eGumgear, QU Lrflun SGureaL{ sarsadled mibs) GeueflGumms Caemeuiu@ib dagylen

cTaTenildans;
@A) - 53 mgibadr. | (B)
(C) 96500 sagyibsar ' (D)

' Which of the following is the ore of titanium?

W Ruile (B)

(C)  Wolframite : (D)

&@é;a;’a&a'm__eu;bgjeh e7gl v CLaflwgdler g ?
(A) eHL_en L6 (B)

C) ool (D)

74. Which 1s a Lewis base?
(A)  B,H,
(C)  LiAlH, (D)
ﬁ@m@méﬁ@g’)@éﬂ 678 uile Sy ?
(A)  B,Hq B)
(C)  LiAlH, s - D
HORGS/2019 28
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127 sagyibger

Hausmannite

Scheelite

 GDTEVLDETENETL_

FemaoL_

&7 N,

AlH,

NH,

AlH,

i}



75.

76.

717.

i}

What is probability of getting more than 5 when a dice is thrown?

@A)

4

(B)

D)

D= &>
Sl o=

(1 ugeL 2 (hLL Liu(Bib Gurg 5-p@E G deLLugpserear Hlepssa, eree?

5 1
(A) r B) =
1 2
©) 7 D) 8

A refrigerator is purchased for Rs. 14,355, including sales tax. If the actual cost price of the
refrigerator is Rs. 13,050, find the rate of sales tax.

A 1% (B) 8%

© 9% I | 7 10%

@ Galtersar Guiligew, elpuemear aufMCur® Ceigg ep. 14,355-&@ alpslu®dng. oiger
2 @wenwimer euriidlu ellene en. 13,050 erafler eflpuener eufl sgeissmss srams. '

@A) 11% (B) 8% '

€ 9% ‘ D) 10%

If (Zp%l]ztl, the value of (ps + :
p 8

@ 4 | ngf,

(€ 8 : D) 15

[2p+-1—]:4m66ﬂé)(p3 + 813] ~aim Uiy
o |

p
A 4 , B) 5
) 8 (D) 15

29 : HORGS/2019
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78. Six people A, B, C, D, E, F are sitting on the ground in a hexagonal shape. All the sides of
the hexagon so formed are of same length. A is not adjacent to B or C. D is not adjacent to

Cor E, B and C are adjacent, F is in the middle of D and C. Which of the following is not a

correct neighbour pair?

\y/ Aand F (B) DandF

(C) BandE D) CandF

A, B, C, D, E, F gdCunrt =imkiGaremr mq_@gglm srer FNrEEHa winbgarerert, A-ub B-uyb
2imarepwuiler Game, 2iCs Gumed Aub, Cuyb msTawudd Geame, D-uyb C-g@w, E-s@bd
2marenwudle @laoeaa, B-ujb C-U_|.Lb 2mEler o ararent, F eremug D-s@b m(Hefled = ererg. &G

2_GTaTeUDHMIET 678 Si(HETenufled @evers Cenrmig.?

A Ay F-o B) D-uyb F-b
(C) B-ywE-b D)  C-yw F-u
79. In the following series, a wrong number is given, find out that wrong number.

4, 5, 10, 18, 34, 59, 95

34 (B) 59

@) |
W 10 | D) 18

Yetreu(mLd CsmLleh geunmer ereirenantéd et (HiLiliy..

4, 5, 10, 18, 34, 59, 95

(A) 34 (B) 59
(C) 10 ' (D) 18
HORGS/2019 30



80.  The ratio of the area of a square to that of the square drawn on its diagonal is
@) 11 sa/ 1:2
© 13 D) 1:4

em sgTsHen LTLAHED, seEILW Apemaall LD auflwrs euamruuu@L sginsden LrLbnEL

o _grer il dlgomeng
A L1 (B) 12
(C) 1:3 D) 1:4

.81. The value of |1+ L 1+ 1 1+ 1 1+ L 18
x+1 x+2 x+3 x+4

1 1

i 1+ B
@ X+5 ®) x+5
x+H x+1
4 - (D)
x+1 X+D
{1+ . }{1+ 1 }[1+ 1 }{IJF }—a‘hmg_ﬂuq
x+1 x+2 x+3 X+
1 1
1+ B
= x+95 . & x+5
©) xX+5 (D) x+1
X+l x+5
82.  If the surface areas of two spheres are in the ratio of 4:25 then the ratio of their volume is
(A) 425 B) 254

©) 1258 | & 8125

@@ Camariusefan Uiy eNdsid 4:25 erafle, igen sar Hatey el
(A) 4:25 - B) 254
(C) 125:8 (D) 8:125

i
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83.  If the side of a square be increased by 4 cms, the area increases by 60 sq.cms. The side of the
square is

(A) 12cm (B) 13 cm

(C) 14cm : W&S cm

R sgIrSSlan ussD 4 Qg8 ofsflaEn Cung wigear Lrliuerey 60 50818 <iflsfadng erafler 2ibs
sgITSSlen LGS eme creen?

(A) 12 em (B) 13 cm

(C) 14cm _ ‘ (D) 55cm

84.  The cost of levelling a rectangular ground at Rs. 1.25 per sq.m is Rs. 900. If the length of the
ground is 30 m, then the width is

(A)  330m (B) 34m

W 24m D) 18m

@0 Cecaus mwgraisas o817 AgsE m. 1.25 s af0aiw G0 Gewey m. 900 <y @lb.
7 Sibawgragdler fard 30 m arafler oigen SiswE®mS Haim(HiG. :

(A)  330m (B) 34m
(© 24m (D) 18m

85. 120 men had provisions for 200 days. After 5 days, 30 men died due to an epidemic. The
remaining food will last for

@& 10days. | B) 146% Laye

(C) 245 days P 260 days

120 Guir, 200 pris@Ense Cameuwitar 2_aure s QUTHL samer eneuggleTenenii. 5 Bl s@Ens@L D@
30 Gumr Qg,n[’p@]@(mnmn@ Bobg oG Heapent, crafle) Bpaperer o amrays QuTmET ersseaman BITL_5 (6 (5

[ENGETCTRY;
(&) 150 prc_ser L ® 146% B et
(C) 245 prlser (D) 260 B _ser
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86.

817.

88.

1]

The unit of currency used for trade during Rig-Vedic period was

W Niska - (B) Rupee

(C) Pagoda ' (D) Coin

flé Goug srasdld euranflaghla LTRSS BTETW {6 G 6Tg)?
A)  Hegar ‘ (B)  emumi
(C) wGamLm (D) &m&

At the time of Alexander’s invasion Chaﬁakya was a teacher in which University?
(A) Nalanda University
(B) Vikramasela University

Takshasila University

(D)  Varanasi University

o Clev&enmanriflen I_IGU)I.QILJ@LIIQGHT Curg gramradlwim mﬁ;g, Ldsmasswssdar  Aflurrs
BEpsm?.

(A) BTEHST LOSDQSSPELD
B)  elérndon LOs@RESPED
(C) slef UDGMWESHPSHLD

(D) aunpemrdl LOEMOESLPSHLD

What was the original name of Mian Tansen, the best singer of Akbar’s time?
(A) Makaranta Pande Ramtanu Pande
(C) Haridas Pande (D) Swami Haridas

SIEUT sTesH0 Q) hhs UsDEUnHD LM Wlwimer gmel g 6 @u.lg')@uu.lr’r GTEIEm ?
(A)  wasyreawrLm uTaETGL B) gmosTay uraTGL

© @)ﬂg,rrreiu umesrGL (D)  seumsl anflgren

33 HORGS/2019
[Turn over



89.

90.

91.

Who put anend the Dual system of administration setup by Robert Clive?
M Warren Hastings (B) Lord Wellesley
(C)  Lord Cornwallis (D) Lord Hastings

ol Slenereured Wamam(® eurliul L @rla 28 eppan (pig.ayéE Asmam () eubgeui wmi?
(A) = eumernr Camenig migy (B)  Geudaveved Gy
(C)  snryemeumedlen Gy (D)  Camevigmien Giyy

‘Mudumalai Wildlife Sanctuary’ is located in
(A) Rajasthan (B) Sikkim

W Tamilnadu (D) Bihar

(PSIDENQ GUETENQBIGSHET FTERTTAUID HENLDBSIETET @)L LD
(A)  @orsevgrer ' (B) #&&dbd
(C)  sllpBTEH ; ; D) Sammir

- The Wild Ass Sanctuary lies in
(A) Assam (B) Gujarat
(C) Maharashtra W Tamilnadu

ST (H S(PEnG ETERTTEOWILD 6T < eNLDHEIGTETS)?
(A) =eveurd ‘ B) ®gs
(C)  wsmymevgyT (D)  sBlpETEH

02, y of the following ‘Tiger Reserve’ is located in North India?

Dudwa (B) Bhadra
(C)  Kalakad ) (D) Bandipur

- SpaumauaraupnieT auL @b wredle) ieinbgiaTer ‘Ladlset STLED 6rey)?

@) gpan B Ui
(C)  sagsnr® ' D)  updogr
HORGS/2019 34
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93.

94.

17

Which one of the following was the purpose of project elephant?
(A)  To kill elephants
(B) To put elephant in the zoo

W To protect elephant from illegal hunting

(D) To put elephants in the island

SP&@TL_eUDMIET TSDEHTS LTenEnEeT urgisTiy SLib ghu@EssuulLg?
(A) W e ETTEHEH GIT Gaan;hmg,g')@

(B)  wrevenser cuaiefe @ sTenrarwsEle) e g6

(C)  wneansear Ceul e wrHeudladl(mbg LUTSISETSSD

(D)  wreearsmer Soysatle) ienL_HHe

~ According to Fluid-Mosaic model, Plasma membrane is made of
(A)  Cellulose and hemicellulose
(B) Phospholipids and hemicellulose
(C) Phospholipids and intrinsic proteins |

y Phospholipids, intrinsic and extrinsic proteins

Byeu-Quranss wrdfuden L, DaTTEUON FEUGUTENTS) —<2h60 HATF).
(A)  GQeoguGemev wpmib danltedaGaren

(B)  umevCGurellGlHaer whmib Qandlbgda Gamen

©C) urevCuredllll HEeT whmiLd &d‘rsﬁrrr’rgﬁgp LT ShIgGET

(D)  urevCureAr Haar, o dreTmihg LFshisar whHmb Gelafliyply LTshiseT
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95.  In India, seasonal unemployment and disguised unemployment are found in the

M Agricultural Sector ' (B) Industrial Sector

(C)  Service Sector , | (D) Trade Sector

@pduralle umasre Gaumewddmoub, wanups Caumauldambwb sramiu@o geon

(A)  Geuemmasr ganm o (B) Gsmfe genm
: (C)  Coseweus gieom ' (D)  aaflss geon
96. In India, the Industrial Development Bank of India was started in the yeaf
\y/ 1964 | (B) 1963
(C) 1965 : (D) 1961

GinSlureller, @b Asmfld cuartédl curid Qgmirisiiul L oyamr(
(A) 1964 (B) 1963

(C) 1965 (D) 1961

97.  Which one of the following is not a direct tax?
(A)  Income Tax ' (B) Wealth Tax
(C) Expenditure Tax | . W Service' Tax

YlereumeuaneupmieT erg) Chir(ps eufl ida?

(A)  eugponereufl (B) Qengg el
(C) Qseeyeu : (D) Geaneu quifl
HORGS/2019 ‘ 36

1



98.

99.

100.

L)

Dualistic nature of Indian économy refers to

\M Co-existence of developed and under-developed segments of the economy
(B) Co-existence of socialism and capitalism
(C)  Co-existence of public sector and private sectors

(D)  Co-existence of governments interactions and non-interactions with discrimination

@rlenL seanepwwarer @b QuIBaTTSTID eTang @HlaEdIng) eremmme

(A) éumﬁ@g, wHNID eueTTéES QUDTE QUTHETTSTIRIGET 6 (H kIS en e bS]

B)  swogiobd wHND PaeTaidgied @@ﬂieﬂmm@é@

(©)  Qurg giop wHmId sss'@ﬂwff FIODSHEHLET R(HESD@TESS)

D)  -srfar QeueuiBad do gopsid eoidamansgib, dodiunb CLsD STHS0 .

The First Five Year Plan laid more emphasise upon

(A) Infrastructure development Agriculture

(C) Industry (D). Removal of poverty
‘psarag ghsrar( Sl —————6@ ifls Sara) pédwusgiod iefisss)
(A) e 6tsl Leniolil auaTiédl B efeusmud

(C) QsmPpsreve ‘ D)  eumenio B&EgD

<

Who has 1ntroduced Mahalwari system?

(A) Thomas Manroe MN’ illiam Bentmck
(C) Corn Wallis W ellesley

el (pepew SABlpSLILHSS e wirr?
(A) - smwev werCrm : (B) eflevedlwid Cuentig &
(C)  amyem cumedlev (D) Geudvavevred
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GENERAL STUDIES

Time Allowed : 2 Hours] [Maximum Marks : 200

Rea«_] the following instructions carefully before you begin to answer the ques'.tion.s.

10.

11.
12.

13.

IMPORTANT INSTRUCTIONS 2 :
The applicant will be supplied with Question Booklet 15 minutes before commencement of the examination.
This Question Booklet contains 100 questions. Prior to attempting to answer, the candidates are

. requested to check whether all the questions are there in series and ensure there are no blank pages in

the question booklet. In case any defect in the Question Paper is noticed, it shall be reported to
the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet. -
If any defect is noticed in the Question Booklet after the commencement of examination, it
will not be replaced. :

Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers.

You will also encode your Question Booklet Number with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per Commission’s notification.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for

each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet. '

In the Answer Sheet there are four circles @ ,, @ and ® against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for -
each question. Select one response for each question in the Question Booklet and mark in the Answer

Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, ® is the correct answer, you have to mark as follows :

0000

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the ‘Examination Hall during the time of

- examination. After the examination is concluded., you must hand over your Answer Sheet to the

Invigilator. You are allowed to take the Question Booklet with you only after the Examination is over.

Do not make any marking in the question booklet except in the sheet before the last pagé of _
the question booklet, which can be used for rough work. This should be strictly adhered.

In all matters and in cases of doubt, the English version is final.

Applicants have to write and shade the total number of answer fields left blank on the boxes provided
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank. '

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion:

i}
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